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MRAW | RHEH | % B B BSOS T Heom SR
WHR —M=E | 2| 1| 1 [ RUTRROYYRNERBIRE 4,350
R —fe=E | 2| 1| 1 | RUTBEERRWHEIE 4,016,905
Ml 58 —REt | 2| 1|1 | RUTHTRRRSEEEHDS 954,000
iR R —MRE | 2 | 1|1 | RUTREMEEEEHDS 4,601,000
i = 2R —M=E |2 1] 6 \ RIUTMBKAREREMHEBE 72,000
iR £ R —M=E | 2| 1| 6 RIUTTEEHKBBIEDRS 40,000
Hhig R £ ER —M=Et | 2 | 1| 8 RUTTMREFDHAE 1,800,000
iR £ R —MR=E | 2| 1| 8 | RUMAZa=ToEMRBIAE 3,302,300
Hhig R £ ER —M=E | 2| 1| 8 | RKUMBEBHREE I—a3a=T(4BIEE 3,500,000
iR £ R —fR=E | 2| 1| 8 RERDODAMIEHENE 250,000
Hhig R £ ER —M2E | 2 | 1|1 BARRBRERERNIUZEESE 1,712,000
iR R —fBeE | 2 |1 |11 | RUTRBRASHENE 171,000
i = 2R —EEH |2 |11 RUTHTRREBREHESEDE 68,000
iR R —MRE | 2 | 1| 11 | RUTABRILEKESEHES 1,822,000
i = £ R —&=E | 2| 1| 1\ RIUMBERLNANO—IILEREZBEHDE 41,700
iR R —MRE | 2 | 1|11 | RIUTABRILAASHREEHEE 804,000
fRAE R —M=Et | 3|1 | 1 | RUTRFEERBEERSREDRE 0
LR —M=Er | 3 | 1| 1 | RUTEAEFEEENIFAREE 308,000
fRAE R —M=Et | 3|1 |1 RUTHEELHBEEEERDE 31,374,873
Bk —MRE [ 3|11 i(ﬁffﬁﬁéiﬁﬂf%%ﬁﬁﬁﬁ 2) 450,000
R B R RN o —— 525,000
Bk —MRE [ 3|11 fifuﬁ%l%f%%%%mm 2) 100,000
fBHER —MR=E | 3| 1| 2 EEEARLEFEENEXREMNE 4,475,760
Bk —M=Er | 3| 1| 2 | EELCHEER-EEHAFAAXEEREWHDE 874,200
R —ran 312 O ) 160,000
LIS —fg2E 312 '@f‘ﬂiﬁ%ﬁg&g)ﬁﬁgﬁ?ﬁﬁ@ 160,000
RFEHRR —M=Er | 3| 1| 3 [ RUMFHIEEZANR—LEEEERDE 1,789,633
RHFEHRR —M=E | 3| 1| 3 | KUt - EnEMBRFERBHEHDE 674,000
RFEHRR —MRE | 3| 1| 3 | RIUTEBAISTEESHAEE 1,723,368
RHFEHRR —MRE | 3| 1| 3 | RUTBEMEAISTEIRE 2,544,000
RFEHRR —M=E | 3| 1| 3 | RUMVIAN—AMEVI—EEEMHPE 34,479,000
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MRAH | RHEH | &K BSOS T Heom SR
Esitam —fpast | 3 g}%ﬁg;gg%;%ﬁ%Iil%ﬁ%l:iﬁ'éﬂﬁﬁ%ﬁ#ﬂ%ﬁ 12,812
RIRFEEER EffEs | 2 HEFR-FE (ERERFRKRRENSE) 19,637,770
RIRFEER EREs | 2 ERE (BRERERRENSE) 6,180,000
RirgEeR ERER | 4 EBNARZEDH S (EREBERIRFASH) 14,734,850
TR R i FR —MR=E | 4 i REEREEEHDE (ERD 1,252,000
TRERHEHER —fasEt | 4 Hig R R EHEE BRI (R 650,000
TR R i RR —=E | 4 ELEHREMFREEEMBE 4,435,000
R BRHEAERR —MeREt | 4 BERfLEHEHbE 106,000
TR R i RR —=E | 4 HEELBEFEZEHDE (ERD 5,710,000
R BRHEAERR — =i | 4 HELEEFEZEMBE (EH) 1,018,600
fRERHEHER —M=Et | 4 F2RPRERAKREMYE 10,623,000
TRRRHEHE R —MB=E | 4 IMNEMBERMREME 1,464,000
ERATETEER —MEE |7 TR B KA B & 0
T ETE R —M=Et |7 BRI E 4,000,000
T EIRR — MRt | 7 RRAREFEMRREERPE 10,667,000
#HETER —fgREt | 7 HRELERHESHEHGS 0
ERATETEER —MEE | 7 REFEMETILI—EHEHESE 0
T EIRR —M=Et | 7 RIUFISBEEEF YR+ EEHDE 13,000,000
EiRR —M=it |7 RUT IR KEFCSE AR EHDE 372,000
TREHER —MeE |7 L ERKIT B ERERAEHEE 50,000
KR KEEE | ( 7}(55%2??;’?%&% 170,031
TKER TkERE | 1 z};ﬂ%ﬁfﬁﬁgég gfﬂﬁﬁg”if 1,656
RIER —MR=Er | 4 RLTSMH L EREREEE 1,188,000
RIER —MR=E | 4 FERAMBKERILNRBZHEEAEHDS 4,542,600
IRIEER —MR=Er | 4 RIUTRERECHNEEFERE 486,400
RIER —MREt | 4 AL &R E IR E A Z R & 7,996,404
IRIEER —M=Et | 4 RUT AR ERERFEEREE 2,074,000
EER —MREt |5 BEBRESHEAEREYE 615,000
EER —fg=i | 5 RUTREFARERF XA S (REAKEREF) 50,000
EER —M=E |5 RUTREFAREASEEENE EEHAKERESE) 30,000
EXR —M=Et |5 R XBEGESMEE 778,000
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EXR —M=E | 5| 1| 3 BEXRERAMBEES 8,250,000
EXS —fEsEt | 5| 1| 3 BREREATAXBESEEWRDS 0
EXR —MeE | 5| 1| 3 BRARLCEESENFEAMEE 40,685
EXE —fEREt | 5 | 1| 3 HERXEHICEXHENE 59,256,360
EER —ME 6| 1| 2 | EEERTABEEHDE 500,000
EXR —MREt | 6| 1| 2 EFREEXEHE 5,338,000
EER —M=E | 6| 1| 2 | HABSRERAEREN EN FHERHDE 212,800
EXE —M=E | 6| 1| 2 MEREEFREESMEFRARIENESE 3,253,900
EER —MR=E | 6| 1| 2 MNRESXFREZESMEN FAEAMEE 662,700
EXE —MRE |6 | 1| 2 EBREREHDS 13,328,000
EER —M=E | 6| 1| 2 BIEXEXEELHERIIMEHE 0
EXE —MB=E 6| 1| 2 MREFEXREXIEZEEDE 7,386,000
EER —RE |6 | 1| 2 |[E—TT RV EERERIIHENE 237,400
EXE —MREt | 6 | 1| 2 |EHEAREHEBIEIHEDS 416,300
EER —MRE |6 | 1| 2 BEAKESEXEHYE 739,000
EXE —MREt | 6| 1| 2 |HEAREHBIBEFEEHDS 504,000
EER —MRE |6 | 1| 2 | HERBEFXEHYE 120,000
EXE —MREt | 6 | 1|3 FEHERLAKEES 200,000
EER —MB=E 6| 1| 3 BHEERIWEHE 207,000
BARER —MRE | 6| 2 | 1 RUTHRABREEHSE 22,559,566
BARRR —MRE | 6| 2 | 1 BAREBHPEOYESHIE 350,000
BARER —MREt | 6| 2 | 1 | RLUERBIESCEEHDS 800,000
BARIRR —BE2E | 6| 2| 2 ERXRBEE@EDE 6,675,000
BARRR —M=E | 6| 2| 3 EREREEDS 188,000
FREHFR —MRE | 9| 1| 2 | RUYHERERMHEHES 93,759,900
FREER —MRE | 9| 1| 2 RAHHEETRMEES 851,000
FREHFR —MRE | 91| 2 | RIUSKREBRENEDE 2,357,000
FREAFR —fB&E | 9| 3| 2 EEBHHE 720,000
XAERR—VEE |—MKRE | 9| 5 | 1 [ RUTXIEDOEYEVFLIKYEEEBIR(ZD1) 50,000
MAERR—YR |—=E | 9| 5 | 1 [ RIUFXIEDOBYEWFELIKYBEHEBE (ZD2) 50,000
XAERR—VER |—MKRE | 9| 5 | 1 [ RUTXIEDEYEVFLIKYEEMEER (ZD3I) 50,000
XIERR—VER |—K=5t | 9| 5 |1 ?‘fm?ﬁﬂﬁi*fﬁﬁﬁﬁzﬁﬁgﬁé) 375,000
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FREH | REAH % E B WEIS OB Heom SR
XERR—VR |—MkxEt |9 5|1 @%ﬁﬁg@ﬁgﬁjﬁ%mw 2) 1,000,000
XAERR—VEE |— K |9 5| ?‘fmﬂiﬁﬁf ﬁiffg ?fﬁﬁﬁﬁgifg 50,000
XERR—VR |—MkxEt |9 5|1 f'fmg;;;g%%;%’%ﬁﬁﬁgfsmﬁnf 10,000
XERR—VE |—Mk=E |9 5|1 g‘f;;;;g%%%%ﬁ%%%7ﬁ%ﬁ 10,000
XAERR—VR |—Mk=Et |9 5|1 ?;ﬂ%’;?;;f;i%ﬂﬁg? 10,000
XERR—VER —M&k=E |9 5|1 ?;&"{;%;%%;i%ﬁﬁgé 10,000
XAERR—VR |—Mk=Et |9 5|1 ﬁij%%fgﬁﬁ;);fg”ﬁfﬁjg%m%ﬁﬁjﬁ 200,000
XIERKR—YVER —MKREt | 9| 5| 2 ?‘fﬁ%@ﬁgﬁf;gi%%Eg;@?g 188,000
XL RK—VER |—R&E | 9|5 2 ii}fﬁ%ﬁ%iﬁgﬁfgﬁézﬁgfﬁgEj]f 200,000
XAERR—VEE |—HREt | 9| 5 | 2 | RILUBERFAKEXHEDE 300,000
XIERR—YE |—BKRE | 9| 6 | 1 BFEEEIETHEARLTHRERRMEEE 14,155,000
BERFELIYR | —MB=E | 9|58 awﬁﬁﬁlﬁﬁgﬂtfé B ) 30,000
BERFEFLIYR | —MRE | 9| 5 | 9 | RILURILERFEEHESS 3,466,000
BEEFELIYR | —BRE | 9| 5| 9 | RILUBERBKE 5,850,000
BERFLIYR | —BEE | 9| 5 | 9 | RILRRERBEE 2,000,000
BEFELIYR | —BKE | 9| 5| 9 | #RILEREHKS 150,000
BERFEFLIYR |[—BRET | 9| 5| 9 |hoYUXLIRERRSE 300,000
BEEFLIYR —MBKREt | 9| 5| 9 | BALRBEE 1,000,000
BEHEFELIYE | —BEit | 9| 5| 9 RAXLHRECEREE£HENE 949,000
FBERFLOYR | —MKET | 9|5 | 9  RUFXILMHRESXERDS 7,000,000
BREs VR R 1| 1| 1 | AL ERNE 29,700,000
FELRKR |—MBRE |32 1 ?‘*mmﬁﬁi;gfaﬁéﬁ?ﬁ%ﬁ% 2) 1,550,400
FELREKR |—MRET | 3| 2 | 1 | RUTFHRESERERGESTHEHDS 200,000
FELREKR |—MRE | 3| 2| 2 RHREMEEEWHDS 19,898,000
FELRFEE |—BEE | 3| 2 | 2 EXR-FAKREBEREEWHNS 341,880
FELREKR |—MRE | 3| 2| 2 RHREMBEXEHDS 14,035,050
FELRER |—MREFH [ 3|2 4 i&%%%ggéi%gg%m@ 1,323,000
HBA TR —fEsE 8| 1| 2 | HEEEXRGE 1,500,000
HBA TR —MRE | 8 | 1| 2 WMAHEBKISTEEHRES 50,000
HBAH TR —MB=E | 8| 1| 2 ERYRLHBIEEHDE 100,000
HEAE —fEREt | 8 | 1| 2 BECEMKEEWHES 160,000
HBAE —MREt | 8 | 1| 3 HEEHABRHEWMES 692,160




